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AR ES 108 22 800
AS kg 108 65 800
= ke 281 11 4 000
1r D F kg = = -
HE kg 115 108 500
F N kg 108 65 800
IFo2NAE xz 80 40 360
INFEF kg 864 216 30
HFF kg 540 324 80
i kg 540 60 300
Bl T7ZT— 18] - ~ -
L %X kg 184 108 500
I kg 270 33 600
=0 kg 216 108 150
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7 X kg 302 64 52
A A kg 270 86 184
E—v> kg 486 108 400
b ke - — -
=E3 ES3 - - -
A(=FI- & - - -
TF0Z Ny - - -
T kg 648 270 22
LR kg — — -
EFT > RD ke — — -
_____ H&Z kg - - -
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HFE kg - — -
B4 kg 135 108 700
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£E ke - — -
LHE kg - - -
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LEFE % - - :
IIRE E3 - - -
FZ kg - - -
FoUOE z - - -
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H A kg - - —
g (20°8) kg = = -
HEE (0 313 4 ) kg 497 454 90
miE (L) kg 572 - 30
7Z—L XX 0> kg 309 180 147
FoTAX 0> kg - - -
T HNIX O kg - - -
=LA T X0 kg - - -
i 18 - - -
YX—h—/)L 18/ — — —
EIE kg - - -
To0TF kg - - -
FroN)L kg - = =
—a2—NIJ—=A kg - — -
—a—EF—% kg - - -
SrANAA L | kg - - -
K kg /83 691 210
Yo d— kg - - -
/N T kg - - -
74 ke - - :
FEIE e - — -




